Quick Start Guide

This guide is intended as a brief user manual for the Complex Mine Model radon model. The user is
expected to be familiar with the subject of radon modeling. This manual is not intended as a textbook on
radon modeling.

1. Draw a schematic of your mine on paper, indicating the direction of airflow. Put a node wherever
you suspect point source radon inflows.

2. Assign a number to each node, starting with the fresh air intake. This is node 1.

3. Assign a number to each branch. While node numbers can be any value, branch numbers should be
reasonably sequential and increase as you go from fresh air to exhaust

At this time your ventilation diagram looks like this, where the nodes are in black and the braches are in
red. Here node 1 is the fresh air intake and node 9 is the exhaust:
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4. Enter the initial node (iN) and final node (fN) associated with each branch on the form. (Note: that
the branch numbers are pre-assigned and cannot be changed.) Enter the length of each branch in
meters (L), its area (A) and its Perimeter (P). Enter the airflow in each branch on m’/s (Q). Your
form should now look like:
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File Edit VWiew Favorites Tools  Help

@Back % '\j Ia @ \{h pSearch *Favorites @ @v :‘!\F’ E 2 D ..ﬁ

Address FQ http:ffmembers, shaw, ca/eic/ ToolsMineModel, htm v | Go | Links *
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Instruments
Canadainc.  Complex Mine Model
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_— |
Branch i N L (m) Almz) Fim) Qm3fs) RM{Bo/s) RE(Bg/s/m2)
1 1 2 300 20 21 15 1] 0
2 2 3 100 20 21 15 1] 0
3 3 4 100 20 21 10 0 a
4 4 5 100 20 21 5 0 a |
5 b a 100 20 21 L3 1] 0
B 4 7 100 20 21 5 0 1]
7 3 B 100 20 21 5 0 a
a 53 7 100 20 21 L3 1] 0
9 7 a 100 20 21 10 1] 0
10 g 9 300 20 21 15| 0 a
11 -1 1 100 20 21 L3 1] 0
12 -1 1 100 20 21 L3 1] 0
13 -1 1 100 20 21 5 0 1]
14 -1 1 100 20 21 5 0 i]
15 -1 1 100 20 21 L3 1] 0 v
&] Done ® Internet =

5. Enter point source radon inflows in Becquerels per second (RN). The model assumes that these are
located immediately downwind of the initial node of the branch. So, in our example, placing a
source in branch 4 will not affect branch 6 values. Enter the radon emanation rates of the workings
in Becquerels per second per square meter (RE). [You can arrive at that value using the Area Source
model of the toolkit, or you can use measured values.] :
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Qe - © @ @ ,_/h pSearch *Favorites & 8' E;‘F B-LJ)3
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A
Branch REY | | L) | |am2) | |Ptm) |lamaisy | |PNEBYs) | |REBgem) |
1 N | |2 ' |300 | |20 | [21 | |15 o | [o | |
2 2 3 100 20 21 15 1e5 0 A
3 3 4 100 20 71 10 0 0 |
4 4 5 100 20 1 5 Ted 0 L
5 BE NE |00 | |20 | [21 ||s o | [o |
B 4 7 100 20 21 5 0 0
7 3 B 100 20 71 5 0 300
8 | 16 | |7 |00 | |20 | 21 ||s o | [o |
3 7 3 100 20 21 10 0 0
10 8 9 300 20 71 15 0 0 I
11 |- |1 100 | |20 | |21 | |5 o | o || =
&] Done  Internet :

6. Press ‘Read these Values and Reset all Calculations’ (if it is not grayed out). Press ‘Do 50 iterations
and display e.o. branch values.’

7. The program now displays the radon concentration in Bg/m® (Rn222), the concentration of the
individual radon progeny in Bq/m’ (Po218, Pb214, Bi214), the potential alpha energy concentration
in WL (WL) and the equilibrium factor (F) at the end of each branch.
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Address | ] httpe fmembers, shaw, cajeici Tooks/MineModel. htm v Beo ks
A
Branch | lin | | | |[Rn222(Baim3| |Po218(Baym3| |Pb214(Ba/m3| |Bi214Ba/m3)| |wiL | [F |
1 || | |2 o o o | [o o EENENEN
2 2 3 5.6623 2663 81621 2.09e0 86022 48282
3 3 1 B.66e3 48063 39622 261el 1931 1.07e-1 3
4 RE | |5 | |8.65e3 | |7.82e3 | |1.40e3 | |2.00e2 | |4.35e-1 | |1.88e-1 || 8
5 5 8 8.6523 3473 24923 55502 6401 2.74e-1
B 1 7 B.66e3 6263 1243 1872 3681 2.05e-1
7 |3 | 16 | |1.33e5 | |6.7324 | |458e3 | |3.08e2 | |256e0 R
8 BE | |7 | |1.32e5 | 1185 | |1.97e4 | |2.64e3 | |6.34e0 | [1.77e41 |
9 7 8 5.9524 6.62e4 15024 26283 4200 2.24e-1
10 8 9 4924 4874 1674 434e3 413e0 31161
T It IC IC IC IC IC Ic | o
& Done ® Internet =

You are now done!

Please note that, in our example, there was no radon or radon progeny in branch 1. Therefore, the
equilibrium factor is undefined. JavaScript denotes that with 'NaNeNaN'.

Quality Assurance
It is easy to make data input errors. Therefore, the program contains some QA checks.

8. Press ‘Display QA report'.
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Address | ] http:/fmembers.shaw,cafeic/Tools/MineMode!, htm v Beo ks
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|Branch | N | | | [NetaiNm3) | [Netamiim3) | [Rn fluxiBo/| [Rutiux tNBey] [mine Rn (Bayd [Net Rn sink(@] |

[ It IE = 1P IC Ic s o |_

[z NE |3 o ||o | |1.00e5 | [1.00e5 | |7.4085 | o |

I3 |3 | |4 o |0 | |6.68e4 | 66724 | |7.40e8 | [0 |

4 | [4 | [5 o o | |433e4 | [433e4 | |7.40e5 | [0 || 8
[s |5 5 ' [0 ([432e4  |[433e4  |[7a0es | [0 |

6 [ [4 17 o [[o [ [3.33e4 | 3334 | [7.40e5 [[o |'

7 |3 | 16 o |0 | |6.63e5 | |6.63e5 | |7.40e5 | [0 |

8 | [6 | [7 o [[o |[652e5  |[663e5 | [740e5  |[o |

E |7 5 ' [0 [6oses  |[sgres | [740es | |0 |

[10 IE RE o | [150e1 | [7.38e5 | |7.40e5 | [7.40e5 | [7.40e5 |'
b It IC It o It IC Ic | &
& ® Internet

8.1. The NetQiN(m3) shows the net flow into each initial node and the NetQfN(m3) shows the net
flow into each final node. If you started with a balanced ventilation system, all values should be
0 (you can’t make air!) except fresh air intakes and exhausts.

8.2. The value in ‘mineRn(Bg/s) is the total amount of radon that was released into the mine. The
values in NetRn sink(Bq/s) show the net radon flow into each final node. Only exhaust nodes
should have net radon flows into them. Also, the sum of all net radon flows (i.e. the amount of
radon exhausted from the mine) should equal the amount of radon released into the mine, which
is shown in ‘mineRn(Bq/s). [Technically, this statement is only correct if we neglect radon
decay. Therefore, for this check, the model neglects radon decay. The difference between the
real radon flux and the ‘undecayed’ radon flux can be seen by comparing Rn and Ru.]

FAQ

9. How do I save my data?
Internet Explorer makes it difficult for web sites to write directly to your hard drive. Therefore, we have
to use a workaround:

9.1. Make sure your input parameters are displayed and not your calculated results or the QA report.
(If required press 'Display Input Parameters') Press ‘Read these Values and Reset all
Calculations’. Press ‘Export Parameters through Box Below’. Highlight all numbers in the box
and hit ‘Ctrl ¢’, to copy them. (You can't see all of them at the same time. So, use the scroll bar
to go to the top of the box, click and drag the mouse to the end of the box.)



23 Complex Mine Model - Microsoft Internet Explorer

File Edit Wiew Favarites Tools Help

@Back - ‘_/: |£] @ _;\_| /‘__\J Search \E:t( Favarites 6‘} ['v “‘-:; - _'J :’:‘
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|20 | [ | [ | [1.00e2 | [z00et | [210e1 | [5.00e0 1 [o | o ] 1
| Fead these values and reset all calculations |
| Do 60 iterations and display e.0. hranch values |
| Da 1 iteration and display e.0. branch values |
| Export pararmetars to file through box below 11 Irmport parameters from file through box below |

S ] S e SR G o}
z0 -1 1 100 20 21

| >

<

L]
3]

0 Internet

9.2. Open a new file in Notepad. Hit ‘Ctrl v’ to paste the numbers:

& Untitled - Notepad

(=16
Eile Edit Format Wiew Help

11 1002021 50018 -1 1 2100 2021 5 001% -1 1 100 2021 50020 -11 200 2021 5 00|

B

Ilv

9.3. Save the Notpad file on your computer as ‘mineData.txt’.

10. How do I enter saved data?

10.1. Open the file mineData.txt, highlight all numbers in the file and hit ‘Ctrl ¢’, to copy them.
Click your mouse in the 1O box and hit ‘Ctrl v’ to paste the numbers:
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Address |§‘! http:,l',l'members.shaw.ca,l'eic,l'TooIs,l'MineModeI.htm_ V| Go Links **
T I I I £y
|20 | [ | [ | |1.00e2 | |2.00e1 | |210e1 | |5.00e0 | o | o | | &
Show next 20
[ Fead these values and reset all calculations ]
[ Do B0 iterations and display e.0. branchwalues ]
[ Do 1 iteration and display e.0. branch values ]
[ Expoart parameters to file through box below ] [ Import parameters from file thraugh box below ]

[t1o0zo21 500 A
izu -1 1 100 20 21 =
i5 oo v
]
@ 0 Internst
10.2. Hit 'Tmport parameters from file through box below'. Click Display input parameters' and

click 'Read these values and reset all calculations'.
11. How do I edit my input parameters?
Whenever input parameters are displayed, you can edit them. Make sure you hit 'Read these values and
reset all calculations' otherwise your edits will be ignored. If a drift has been back filled, do not enter a
flow rate of 0. The program can't handle O flows. Instead, write '-1' in the iN field. That tells the program
to ignore the branch.

12. What does this error message mean?
Microsoft Internet Explorer b4

& scripk on this page is causing Internet Explorer ko run slowly, IF it continues ko run, vour computer may become
! UNtesponsive,

Do ol wank ko abort Ehe script?




The program is taking longer to execute than Internet Explorer would like. This is probably because you
used a very low flow rate in one of the branches. Just click 'No' and the program will eventually finish.
Otherwise, click '"Yes' and use better input parameters.

13. Can the program handle complicated layouts with loops?

Yes, consider the layout below:

10
6
8 7
1 —a Q-
7 6 5
e oY
2 3 4
3 4 5

It is the same as our original example, except we have back filled branch 9 and reversed the flow in
branches 7 and 8 and changed some flows so that they balance. So, our input screen becomes:
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File Edt ‘iew Favorites Tools Help F -
@Back - t\) @ @ dj pSearch \V_ﬂ\?Favorites & @v i} - D 3
Address | @] hitpsfmembers shauw.caeic/ ToolsfMineModel. htm vIBeo ks >
Motes: | L] |
Branch ir i L () AlmE) Fim) Qim3) Fn(Ba/s) RE(Bgfs/m)
1 1 2 30082 2.00e1 210el 15061 0 b ]
2 | [2 | |3 | 1.00e2 2.00e1 2.10e1 150e 1.0085 | o |
3 | [3 RE | 1.00e2 2.00e1 21081 2.00e1 0 | o | | B
4 4 5 1.00e2 2.00e1 2108l 15.00e0 1.00e4 0
5 5 8 1.0082 2.00e1 2108l 15.0020 0 0 [
B 4 7 1.0022 2.00e1 210el 50020 0 0 | F]
7 B 3 1.00e2 2.00e1 2.10el 50020 0 3002
8 7 B 1.0082 2.00e1 2108l 5000 0 0
9 -1 8 1.0082 2.00et 2108l 1.00et 0 0 [
10 | |a RE | |3.00e2 2.00e1 2.10e1 150e 0 | o |
11 | |1 | |1 | 1.00e2 2.00e1 21081 5.00e0 0 | o |
12 -1 1 1.00e2 2.00e1 2108l 5.00e0 0 0
13 -1 1 1.0082 2.00e1 2108l 5000 0 0 [
a . 4 < an-n A noa Aanoa ran-n n n | &)
& B Internet ”.-:I

Press ‘Read these Values and Reset all Calculations’ (if it is not grayed out). Press ‘Do 50 iterations and

display e.o. branch values’ to get:
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2 |

Branch iN i Rn222(Bg/m3| | Po218(Bg/m3 |Ph214Bg/m3 [Biz14(Ba/m3)| WL F

1 1 2 0 0 0 0 0 NaNeNaN |

2 | 2 | |3 | |B.66e3 2663 816e 2.09e0 8B8e2 | |d8e2 |

3 | 3 RE | 4.86e4 35584 79583 2733 2390 | 18221 |

1 4 5 492e4 410e4 96663 317e3 2.82e0 212e-1 =

5 5 8 492e4 443e4 1.15e4 3.70e3 323e0 243e1 |

B 4 7 48664 457e4 1.34e4 433e3 359e0 27461

7 B 3 1.74e5 11085 27284 93423 7.88e0 16761

8 7 B 48564 47984 18704 57163 46480 35461

3 - 8 0 0 0 0 0 0 B

10 | |8 RE | 4924 48184 1714 5 863 43380 | 32601 |

11 | |- | |1 | o 0 0 0 0 | o |

12 -1 1 0 0 0 0 0 0

13 -1 1 0 0 0 0 0 0 B

14 -1 1 0 0 0 0 0 0

] |

& B Internet ”.-:I




and a QA report shows that everything is OK:
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Address |§|Ihttp:Hmembers.shaw.caxeicﬂods;MineModa.htm | v B e ik :

Branch iM i et Qitm3) et QfHm3) FnfluxBgf| |Buflux™(Bgf| [mine BnBg/ |MNetBn sinkiB

1 1 2 15 0 0 0 740e5 | |0 |

2 ? 3 0 0 1.0085 1.0085 7.4085 0 B

3 | [3 RE | o R | l972e5 IRERESE | 7.40e5 | o |

4 | |4 R | o R | 173985 | 7.40e5 | 7.405 | o |

5 5 B 0 0 7.38e5 7.40e5 7.40e5 0

B F 7 0 0 2 43eh 2 43eh 7.40e5 0 B | |

7 B 3 0 0 B.72e5 B.73e5 7.40e5 0

B 7 B 0 0 2.43e5 2.43e5 7.40e5 0 B

g A1 8 0 0 0 0 o | Jo B

10 8 3 0 15081 73865 7.4085 7.4085 7 4085 B

11 | |1 | |1 | o R o o | o | o |

12 | |- | |1 | o R o | o | o | o |

13 - 1 0 0 0 0 0 0

14 - 1 0 0 0 0 0 0 | =
@T—_-——_“—_.—_—_——DInternet =

This is a good scenario for showing how the program works. It calculates the radon and progeny
concentrations at the end of each branch and uses these as input parameters for downstream branches. It
starts at branch 1 and goes sequentially down the list, ignoring any branches with input node '-1".
Sometimes, as in the case of the recalculation loop, the input of one branch is affected by its output. This
is resolved by using the output of each run as the input for the next run and repeating until a steady state
solution is found.

If we, instead of pressing ‘Do 50 iterations and display e.o. branch values’, pressed ‘Do 1 iteration and
display e.o. branch values’ in the above re-circulation example, the results would be:
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Branch | |in Y | Rn222(Bg/m3 |Po218(Bg/m3 |Pb214(Bg/m3 |Bi21d(Bg/m3)| Wil | |F | 2
1 | [1 | |2 | o R o | o | o | [MaMNeNaN |
2 2 3 B e 3 2 a3 8 16e 2 9e0 86822 48222 _
3 3 1 £ 03 2 9563 1 B5e? 7 60el 107e-1 79202 | ‘
1 1 5 5 a3 40383 15482 2 B4el 16561 1081
5 5 8 £ BBl 4583 5 802 5726l 218e-1 =i
B 4 7 49983 4553 7 B2 a93e1 2a5e1 | |18ze1 |
7 B 3 12666 £ 154 1773 218e? 2 288l 57102 |
8 | [7 NG | 4.9%3 | 4903 | 1.40e3 RETIEE: | 363e1 | |270e1 |
9 | |- RE | o R o | o | o | o |
10 8 3 5 e 3 5 453 13163 2 362 1591 2 3521
11 1 1 0 0 i i i i B
12 -1 1 0 0 i i i i
13 T 1 0 0 0 0 0 0 [
14 -1 1 0 0 0 0 i o B
15 -1 1 0 0 i i i 0 [ | @)
&] D Internet -:':I

Which is quite different than our 50 iteration result. Also, our QA report shows that the mine Rn (Bg/s)
(7.4e5) is unequal to Net Rn sink(Bq/s) (8.5e4). That means we have not followed the radon through the
mine enough, so that we can account for all the radon at the exhaust raise.
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Notes: | |
Branch | |in i MetQiN(m3) | |NetQiNm3) | |RnfluxiNByy| |RufluxiN(By/| |mine Rn(Bajd | NetPin sinkiB|
1 1 2 -15 i 1 1 7.40E5 1] =
2 2 3 0 0 1.00e5 1.00e5 7.40e5 0 [
3 3 g 0 0 1.00e5 1.00e5 7.40e5 0 |
4 g 5 0 0 5.49e4 B.50e4 7.40e5 0 T
5 5 B 0 0 B.4%e4 B.50e4 7.40e5 0
B 4 7 0 0 2 Fled 2 Fled 7.40ek 0 B
7 | |e | |3 | o R | 6305 | 6305 | 17405 | o |
8 | [7 R | o R | 2494 | |250ed | 7.40e5 | o |
g - B 0 0 0 0 0 0
10 B g 0 1508 54824 B.50e4 7.40e5 B.50ed [
1 - 1 0 0 0 0 0 0 |
12 -1 1 0 0 0 0 0 0 |
&l B Internet _;3|

Running another iteration gives:
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2 |

Branch iN i Rn222(Bg/m3| | Po218(Bg/m3 |Ph214Bg/m3 [Biz14(Ba/m3)| WL F

1 1 2 0 0 0 0 0 NaNeNaN |

2 | 2 | |3 | |B.66e3 | 2663 | 8166 | 20980 | leEge2 | ldBze2 |

3 | 3 RE RECT | 23484 | 11833 | 1292 | 19.29e1 3432 |

1 4 5 371ed 2,894 321e3 301e2 12920 1.29e-1 :

5 5 8 371ed 3.22e4 475e3 5 66e2 16220 1621 |

B 4 7 36484 33684 63083 a21e? 191e0 19561

7 B 3 13165 56424 57423 3.00e2 2.75e0 7792

8 7 B 36484 358e4 10924 24803 27780 28261

3 - 8 0 0 0 0 0 0 B

10 | |8 RE | 137164 IECIEE | 19503 | 1903 | 25380 | |252e |

11 | |- | |1 | o R o | o | o | o |

12 -1 1 0 0 0 0 0 0

13 -1 1 0 0 0 0 0 0 B

14 -1 1 0 0 0 0 0 0

] |

& B Internet ”.-:I

and the QA report shows that we are now accounting for most of the radon, but not all:
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1 1 2 5 | o 0 0 7.4085 ]

2 | [2 | |3 0 0 | 1005 | 1005 | 17405 | o | | &

3 | [3 RE 0 0 | 17305 | 17305 | 7.40e5 | o |

1 1 5 0 0 55785 55785 7 4085 i

5 5 B 0 0 55785 55785 7 4085 i [

B 1 7 0 0 1.8285 18285 7.4025 0 B

7 B 3 0 0 B.55e5 B.55e5 7.4085 0

B 7 B 0 0 16285 16285 7 s i

3 A 8 0 0 0 0 0 0 |

10 | |a RE 0 150e1 | 5565 | 5575 | 17405 | 5575 |

11 | |1 | |1 0 0 | o | o | o | o | |
&] D Internet =

After 10 iterations we can account for about 99.8% of the radon:
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1 1 2 -15 a 1] 1] 7.40eh 1]
2 2 3 0 0 1.00eh 1.00eh 7.40eh i
3 | [3 RE 0 0 IRERAEE IRERZEE | 7.40e5 | o | | E
4 | |4 R 0 0 | 17385 | 17395 | 17.405 | o |
5 5 8 0 0 7.38e6 7.39eh 7.40eh il V
G 4 7 i 0 2.43eh 2.43eh 7.40eh il
7 6 3 0 0 871eb 8.72eh 7405 il B
a8 7 G 0 0 2.42eh 2.43eh 7.40e5 i B
9 -1 g 1] a 1] 1] 1] 1]
10 8 9 0 1.60a1 7.37aeh 7.39eh 7.40eh 7.39eh
11 -1 1 0 0 0 0 0 | o
= 1 1 = Pl 1 T i B | &8
@ D Internst 5

The easiest way to make sure that enough iterations have been done is to run 50 iterations and then
check the QA report. One could also run another 50 iterations to see if there are any changes.



14. What if I just want to model a part of the mine with known radon and progeny in the intake
air?

The program always assumes that the air coming into the mine is clean. We can work around this by
starting our actual model at node 2 in our original example.

1 O s
Y\ S S —)

Suppose you know the air at node 2 will have ~ 1000 Bq/m” of radon and about 0.2 WL. We can then
guess at the source term in branch 1 and the size of branch 1 to produce these values at node 2. Since
radon has a long half life, it is easy to get the radon gas correct. Since the flow through branch 1 is 15
m’/s we need to put in slightly more than 15 000 Bg/s to end up with 1000 Bq/m3:
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Hotes: | |
Branch iN N L (m) Almz) Pirm) Q(m3) Rn(Bass) RE(Bg/s/m2)
1 1 2 3.00e2 2.00e1 2.10e1 1.50e1 1EDDD| a
2 2 3 1.00e2 2.00el 2.10el 1.50e1 1.00ek a
3 3 4 1.00e2 2.00e1 2.10e1 1.00e1 0 1]
4 4 5 1.00e2 2.00e1 2.10e1 5.00ed 1.00e4 1]
5 5 8 1.00e2 2.00e1 2.10e1 £.00ed 0 1] T
B 4 7 1.00e2 2.00e1 2.10e1 5.00e0 0 1]
1 3 [ 1.00e2 2.00e1 2.10e1 5.00e0 0 3.00e2
il 3] 7 1.00e2 2.00e1 2.10e1 5.00ed 0 i]
9 fi 8 1.00e2 2.00e1 2.10e1 1.00e1 0 1]
10 g 9 3.00e2 2.00e1 2.10e1 1.50e1 0 i
1 -1 1 1.00e2 2.00e1 2.10el 5.00ed 0 a
12 -1 1 1.00e2 2.00e1 2.10e1 £.00ed 0 a
13 -1 1 1.00e2 2.00e1 2.10e1 5.00e0 0 1]
14 -1 1 1.00e2 2.00e1 2.10e1 5.00ed 0 1]
15 -1 1 1.00e2 2.00e1 2.10e1 £.00ed 0 a
|
&] ® Internet

And the results show that we can expect about 0.037 WL at node 2.

2 Complex Mine Model - Microsoft Internet Explorer

File Edit ‘iew Favorites Tools  Help i’
@ Back - \,} E @ Ch p Search \V_ﬂ\?Favorites @ @v i} - D 43
Address |@ http:ffmembers, shaw, cafeici Tools/MineModel.htm Vl Go Links **
)
HNotes: | |
|
Branch L lin | | | |Pn222(By/m3| |Po218(Bg/m3| |Pb214(By/m3| |Bi214{Bg/im3)| |wL | |F | E|
1 | [1 | [2 EEES EXER | |7.9261 | 163260 | 337er | [1.28e | | B
7 | 2 | [3 | |786e3 | |353e3 | 20322 | 15261 | 12861 | lp2ge2 |
3 | [3 | |4 | |7868e3 | |574e3 | 58322 | 5426t | |24d8e-1 | 112081 |
4 4 5 9.65e3 8813 1713 2.73e2 5.13e-1 1.97e-1
5 5 8 9.64e3 9.47e3 2913 5.8822 7.40e-1 2.84e-1
B 4 7 7.6523 7.24e3 15523 26022 44Be-1 2.16e-1
7 3 B 1.34e5 5.82e4 483e3 353e2 26380 7.30e2 a
@ & Internet




So, we have to increase the decay time from node 1 to 2, in order to increase the radon progeny
concentration. We can do this by either increasing the length or area of branch 1. (We can't change the
flow rate, because we want the flows to remain balanced.)

After a couple of tries (hit 'Display input parameters' after each calculation, so you don't have to re-type
everything) we find that

2 Complex Mine Model - Microsoft Internet Explorer

File Edit ‘iew Favorites Tools  Help :ﬁ.
@ Back = -\“; B @ :h p Search * Favaorites @ B - % = |_J .ﬁ
Address |@ http:ffmembers, shaw, cafeici Tools/MineModel.htm Vl Go Links **
Es
Hotes: | |
|Branch - lin | | Lo | |Am2) | Pim) | Qm3 | PnBys) | RE@wsm2)|
1 | [1 | [2 | |3.00e2 | |2.00e2 | 21061 | 1506 | 1524 | o |
2 | 2 | [3 | |1.00e2 | |2.00e1 | 21061 | 1506 | 10065 | o |
3 | [3 | |4 | |1.00e2 | |2.00e1 | 21061 | 10061 | o | o |
4 |4 | |5 | |1.00e2 | |2.00e1 | (21061 | 50080 | 1.00e4 | 1o |
5 s | |a | |1.00e2 | |2.00e1 | 21061 | 50080 | o | o |
B |4 | [7 | |1.00e2 | |2.00e1 | 21061 | 50080 | o | o |
7 | I3 | Is | |1.00e2 | |2.00e1 | 2108t | |5.00e0 | o | I3.00e2 | | &
@ & Internet

gives returns pretty close to the desired results at node 2.:

2 Complex Mine Model - Microsoft Internet Explorer

Fle Edit Wew Favorites Tools  Help
@Back - \“; B @ -ﬁh pSearch *Favoritas & &3- % - |_J 3
Address | &] https/jmembers.shaw. cajeiciTools/MineModel, fbm v B ks
A
Eranch i 4 Rnz22(Ba/m3] |Po216@gim3] [PR214Ba/m3] |Bi214Egm3)| [wi F i
1 1 2 1.0023 1.07e3 8.07e2 55182 1.98e-1 7.28e-1
2 2 3 76723 36723 8.9922 57182 2 681 1.3%e-1
3 3 F 76723 5813 12383 F.2382 3.99-1 1.93e-1 1
4 1 5 96623 B.8323 22623 B.4722 B.5De-T 2.49e-1 N
5 5 B 96523 9.4723 13783 1.2523 B.63e-1 331e
B 1 7 76623 7.26e3 21023 B.34e2 5631 2.a2e-1
7 3 B 1.34e5 F.83e4 54323 9.27e2 2.78e0 76922
B B 7 1.33e5 1.19e5 2.06ed 3.31e3 B.5Bel 18281 N
I | |7 | la | 170624 | l6.72e4 | [158e4 | |3.30e3 | |4.42e0 | l23ze-1 | | &
&] B Internet

15. What if I need more than 20 branches?



In the future, this functionality will be supported. For now, you either have to simplify your layout or
look at the mine in sections of 20 branches each and model these individually.

Appendix: Theory of Radon Decay and Progeny Growth

This program is a model that follows radon through the mine and keeps track of the individual radon
progeny. It does not use rule of thumb approximations like "'WL = k*Rn*t**® which are used in some
programs. The reader is assumed to be familiar with the Bateman equations for radioactive decay.

We consider a unit volume of air as it moves through the mine. The change in the amount of radon per
unit time is given by:

dNRn/dt=S - Ig, NRn

where:

NRn = the number of radon-222 atoms.

S = the rate at which radon-222 atoms are being added.

Ir, = the decay constant of radon.

The change in the amount of radon progeny per unit time is given by:

dNPl /dt= li—l NPi_l - li NPI

where:

NP; = the number of atoms of the it progeny. (i =0,1,2,3 corresponds to Rn-222, Po-218, Pb-214, Bi-214
respectively) .

i = the decay constant of the i progeny.

We solve these equations by stepping through them in increments of TI seconds. As long as TI is much
smaller than the half-life of the shortest lived radon progeny, the results will be accurate. As long as TI <
15 seconds the results will be accurate to within a few percent.

NRn = NRng + S TI - Iz, NRngy TI

For the progeny calculations, we use the average concentration of the parent NP;_j, as the input. For i=1,
NP;.;1,.= (NRn + NRny)/2

And for all other i:

NP; = NPjp + 1;.1NP;.1, TI - [; NP;p TI

The total amount of time TT that is required for the air to traverse the tunnel is the total volume of the
tunnel VT divided by the airflow Q.



TT=VT/Q
We choose TI to be less thanl5 seconds:
TI=TT/ (int(TT / 15s) + 1)

where int() is the truncation operator.



